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They become Tohoir from being M’tahmey — N2AUOR 1Y

OVERVIEW

The Xn3 cites a mwn which states that if one took' 7210 "2’ which became &b
and planted them, they become T7v and cannot be Xnvn other foods. NvOIN
reconciles our X713 with other seemingly contradictory mana.

nvoIn asks:
= 1999019 (3,10 91 NAYT NP P92 PNYY 132299 710N

The 5''1 is astounded; for the X723 concluded in the first P2 of naw noon -
=112 772 NIV NN DN 212995 12995 991753 19T NNPYLY 139577
That this is the reason why the 0°2517 decreed that the growth of 72190 is also

7230, because of the concern of 7R%Y 772190 in the possession of the 377> -
- 205919 AN DNY KIY WIS

The explanation of this concern is that we are concerned that the 175 should not

keep the nXnv 72170 in order to plant them. The concludes the citation from the X773,

mooIn concludes his question -
- *79n0Y 513 NYY NMN DY 1910 1922 XYM

But now since the new crop becomes 217, the 77> will still keep it in order to
plant it, so that it will become 97!

mooIN answers:

= MR NNY XD RN NP9 DIVNT PHYY 13929 99IN)

And the >''9 answers that he will not keep it for the small profit which he may
gain; it is only a small profit —

- PYIN MUY X9 *7119n KON PITIY INRM

"m0 *°nw are certain vegetables where the vegetable itself is inserted in the ground for planting, like cabbage.

* The o'»on made a decree that if one plants 7=17n (for instance wheat), anything that grows from this planting is

7N,

3 If Amn 9173 would be 19911, a 172 who has 7Xmu 7170 may decide to plant it so the produce will be permitted to be

eaten (since it is not 7i17n). There is the concern however that during the time until he plants them he may eat the

7X7Y 70 (which is forbidden). However now that m1n *2173 are 72170, the 175 will not benefit by planting them.

* The 17 still benefits by keeping the axnv 7mn and planting it, for (even though the new crop will be 7110 [since

the 0°mon were M3 that 77170 7210 173 nevertheless) the new crop will be 7117w 7m0 which can be eaten (as

opposed to nxau N which needs to be burnt). We have not accomplished much with the 713 of 7230 71712

7170, since the 77 will still keep the Xnv 717N to plant it and he may come to eat it (before he plants it, which is

TIOK since it is 7RV 72170).

> There is a large difference in price between 190 and 197 (since there is a much larger market for 1911, and there

are not many restrictions on 1211 as there are on 7217n). Therefore if we would maintain 1231 7210 2172, the 0°370

would certainly be mnwn the 710 to plant them and the crop would be P71, which would be very profitable.
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Since it is still 72170 and it did not become 5.

nooIn asks:
= 199103 19 291 VY TYYNI NNMIIN DY) ‘NN2DINA NIINT PIN) 02939329 NVYPN

7R3 1" asked that we learnt in a Xnoen that the growth of 772190 and *1w "wy»
are like °917; which contradicts the previously cited &»3 that 7170 7190 2917732

N1B0IN answers:
- 159903 171 5977 HNHIN NIONRT 3PTWINA NI NI

And 1Rx 1" found an answers in S22 71170 on NN noon, that the meaning
of 19912 37 9977 (regarding w"ym) N YNT) -
- 5ANDY NNAYWY VHYA 2NNNY 139
Is that the crop of 2170 7173 is liable for 7Sy oW wP® (but not that it may be eaten
by o1 like P210) -
- 799919 1PIONY KIN JMIN PPN DN 3939 INIYS 33
So that the poor 299872 and poor 2°17> can gather the ™5, however it is

forbidden to be eaten by non-2°171> -
- Zanyan vn1a Pe5naY 115 NN 199990 INIWS 993y NN 1399

And this is what we learnt; ‘the poor 2982w sell their ' to the 2°177> for

the price of 77190, mooin explains why indeed does the 72190 1173 require 5" -
- ANSY NNV VPYA P12350 TWEM NN PR RIPINNRTNIY 599 KNIV

And the reason why 5"W?> must be given from this 770 2173, is because 3%
779057 the 772170 °917°) are not really 2wy 72190, and therefore since they are 1710

they are obligated in 5" -
- %Y Y991 13297 NN INN N9

And the 57913 of the j129, that 72170 72170 °717°3, cannot come and uproot the 7n

However, once there is the 77°1 of 7m0 72170 173, the 373 will not be 37w the 8»v 7m0 in order that it become
7MY 7N, because the difference in price between XnY 7170 (which can be used as fuel) and 77170 7170 (which
can only be eaten by 0°1772) is small and there is no large profit to be made, so it is not worth the bother to be mwn.
6" X" M.
TX"71"5 (in our "MW on 2,K9).
¥ We are not required to give 9"w% from Twvm 7m7Nn; however in this case (even though 7mIn 7N 173,
nevertheless we are required to give 5" W5 to the o»1v.
? It is @™ 1 MOK since N 7N AT
' This is a 7awn in 2" ©"s NN (perhaps the X073 should be 11n7).
" The %" »w cannot eat the 5"wY (since 7N 1IN 1173, however it belongs to them and they can sell it to
0°12.
"2 The price of 17N is less than the price of 1"911. See footnote # 5.
" This is amended in the newer text (see 112 XM) to read 131 VPY AWM ,WYM AN DR RNPNRTAY (instead of
121 LPYA 17271 VA AAIN PR XNMIRTAY). The translation here follows the amended version.
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obligation to give 5"w> from these crops.'*

nooIN asks:
= ('3 YN ’a P9) 151:"119:1 2912 1907 W’r92) NYN 129 290 AVYPN TV

And additionally w''>s931 7w 9'"7 asked; we learnt in a 773w in 299192 noon» -
= 7M99H2 12 PRY NN 09102 9vyna v

‘There is a stringency in 9wy» and 2°7152 which is not found by 7720 -
- Bannab 05919 9R Y 055wr95a 91N ©INON 191793 ¥ornaa) awsnnw

That regarding 2971521 "wy» their growth is forbidden to be eaten in 2°%27 as

7211, and it is also forbidden for the 0°7102 7173 to be eaten even by 2771 and cattle -
= ©91Y 99 N1MIIN NTNT YNRVYN NMINa 12 PNV PN

Which is not the case by 7vn’°. This concludes the 71wn. This indicates that

72170 99173 is permitted for 29775 this contradicts what we are saying here that 7m0 "7
N —

mooIn responds:
- P53 159 syas ©9319Y AN NATTINT DY AN NIYIY 99Y NN NY 597 IND2 170

However, even without this difficulty (that here we say that 7m0 72170 °2173 and
from the 71w» in 2°122 it seems that 77170 717°3 is @17 ANN), in the 7Iwn there,
the expression of 2v11% O (that it is forbidden even for 2°77) is not proper, for on

the contrary it should have said that it is forbidden even for 2°1712; therefore we
need to clarify that 7wn -

919V ¥IYN 19 2095453 13950 ©NNT OY9TT AN

'* The 1321 have the power to be stringent (not to allow 2 to eat the 7»17n *173), but they do not have the power to

be lenient and remove a 77N obligation, so since these crops are n"in 1211, therefore the obligation to give "9,

cannot be cancelled.

15 The mwn there reads; ,0°>w1°2 19897 1AW 93 IOKY 191 2NN WYATW AN 1D PRY T DN WwWyna v

71902 19 PRW 772 ,097107221 YN 19X 577,97 1271 20719 IR 2051772 DIDRDA 20K T

'® qwyn and 0M2°2 which became mixed up 1111 2172, need to be eaten as 2>M2°21 Wwyn in 5w and cannot be

eaten 121 N2 (outside 0°%w17); even though the 211 is 121, nevertheless since it is a 7' 12 w*w 127, for it can

be eaten in 2°>w17, therefore it is not 02..

" The same law applies if this mixture was planted, the crops that grew from this mixture, also need to be eaten in

°5w1 (because just like 210 7210 ¥217) similarly 0 012°21 7wYn "3 are 2°119°21 WwYn). See footnote # 16.

'8 This mixture or the 2™73 (of w"¥n and 0°711272) cannot be eaten by a7 (if it is 2°112°2 [for 0°112°2 may be eaten

only by 2°1713]) or by a nnna (if it is 7wyn). Even though one may argue that since the N1 M0°X by 0°112°2 (and the

TNT2 MOR by WwYn) is not a PPN 12 Ww 127, so if there was 121 217 it should be 2172 Yv3, nevertheless since the

rule of eating it in 2°2w17 is 17N 12 W W 127 (and is not v3), this extends to the 7721 07 MO as well.

1 The m1wn should have said that even 0°1772 (who are the ones that may eat 0°713°2), are forbidden to eat this mixture

or the 2°717°3 outside 1211 N7IN2 9w, Why say, even 0°71; when 097 are (certainly) forbidden to eat 2°113°2?!

0 Therefore when it states there 7702 d"Xwn (that it is 1% 2n) it means that by 7210 "7, the 0»101 (only) are

permitted to eat it, but not a ?X7w°. There is therefore no contradiction from that 72wn to our X773 here. The reason
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And it is the view of mpoIn that 2°1 there means 27123, and so too it seems?' in
SADRIN® TN that 01 here refers to ™21,

SUMMARY

N N7 are 0. It is not worthwhile to plant ax»Y 7170 in order to have
7w 37N, Similarly it is not worth to sell 7210 2173 to a 21, The 7170 173
(even though they are 1312772 7237n) are (nevertheless) 2> in XD AMOW VPS.

THINKING IT OVER
Why indeed is it that 2°112°2 *217° are (2°721) 272 MoK, and 7N N7 is NN
0191777

why it is 7 to sell it to 0121 is because in essence 7PN *217°3 are not 77N, they are only considered 72170 so the
5% will not keep them for planting and mistakenly eat them; however there is no such concern that he will keep
them to sell it to a *121, since there is little profit to be made by selling it to a *721. However by w"¥» and 2°M13°2 we
are stricter and prohibit it to be given or sold to o>331. See ‘Thinking it over’.
! (Presumably in) 2"» 2" 2™112°2 (see X"aw17 Moow). See however 2" .
22 See (footnote # 18 and) YXmw 127.
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